11. Mathematical Operations -

This section deals with guestions on simple mathematical operations. Here, the four fundamental operations —
addition, ‘subtraction, multiplication and division and also statements such as 'less than', ‘greater than', 'equal to’,
'not equal to', etc. are represented by symbols, different from the usual ones. The questions involving these
operations are set using artificial symbols. The candidate has to substitute the reai signs and solve the questions
accordingly, to get the answer. '

In this type, you are provided with substitutes for various mathematical symbols or numerals, followed by a

question involving calculation of an expression or choosing the correct/incorrect equation. The candidate is
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required to put in the real sighs or numerals in the given equation and then solve the questions as required.
Note : While solving a mattiematical expression, proceed according to the rule BODMAS i.e., Brackets, Of,
Division, Multiplication, Addition, Subtraction.

Scolved examples

Ii '+ means 'minus’, 'x' means 'divided by, '+" means Plus' and ' means 'multiplied by, then which of the
following will be the value of the expression 252 % 9-5 + 32 + 92?

-

{1}95 - {2)168 (3) 192 ' (4) 200

“Puifting the proper signs in the given expression, we get :

252 + 9 x5-32 + 92 = 28 x5-32 + 92 = 140 - 32 + 92 = 232 - 32 = 200.

‘Hence, the answer is (4}.

If L stands for +, M stands for —, N'stands for x P stands for =, then 14 N 10 L 42P 2M 8 = ?
(1) 153 {2216 (3) 248 : (4) 251

Putting the proper signs,in the given expression, we get : - ‘ ' .
14x10+42 + 2-8=14x10+21-8=140+21-8= 161 - 8 153.

Hence, the answer is (1).

If 20 - 10 means 200, 8 = 4 means 12, 6 % 2mea.ns4 then 100.- 10 x. lOOO 1000+ 100x 10=7.

{1}0 {220 - - (3)1090 (4) 1900

Given that : 20 — 10 = 200. But, atually 20 x 10 = 200. So, - means x '

Given that : 8 = 4 = 12. But, actually 8 + 4 = 12. So, + means +.

Given that : 61X 2 = 4, But, actuatlg 6~ 2 =4.50, xmeans —.

Thus, ini the given mathematical language, — means x + means + and xmeans —. So, + means +. Putting the
correct signs, we have : ,

Given expression = 100 x10 - 1000 + 1000 + 100 - 10.= 1000 ~ 1000 + 10-10=0.

Hence, the ans: .ver is {1).

It belng given that : > denotgs +, < denotes ~, + denotes +, — denotes =, = denotes iess than and xdenotes
“'greater than ', find which of the folloumg isa correct statement -
M3+2>4=9+3<2 (2352>4= 18+3<1

3 3>2<4x8+4<2 @3+2<4x9+3<3
Using proper notations, we have : - S o
(1) . Givenstatementis3 + 2+4<9 + 3-2or 7 < 1, which is not true.

' o TR
{2)  Givenstatementis 3+ 2+ 4 <18 + 3-1cr9 <5, whichis not true.
(3 Gwen statementis3+2-4>8 £ 4-20r1>0, which is true.

-

5 .
-{4)  Given statement is3 + 2= 4 > 9 3-3or— 5 >0, wmh is] not true. =

Hence, the answer i3 (3).



i the gwen interchanges namely : signs + and + . and numbers 2-aad 4 are made in signs and numbers, whick "
one of the following four equations would be correct? .
1 2+4:3=3 24+2 - 6=15 . (3)4%2+3=4 (4}2;4+’6=8

.V

Sol. Interchanging (+. and +) and (2 and 4), we get :
(1)4 = 2 + 3= 3 or 5 = 3, which is false.
(2)2+4+6=150r65=1.5, whichis false.

10 ‘ :
(3)2+4+3=4or 3= 4, which is false.

{@)4 +2 +6=8or8 =8, which i true. -
Hence, the answer is {4).
Ex.6 Which one of the four interchanges in signs and fiumbers would make the given equation correct?
3+5-2=4
() +and—, 2and 3 _
Sol.” By makmg the interchanges given in (1) we get the equation as 2 -5 + 3= 4 or 0 4 which is

(2) +and - 2 and 5 ( 3) + and -, 3 and 5 ’ (4) None of these

c3=dor false.

By making the interchanges given in (2), we get the equation as 3 -2 + 5 =4 or 6 =4, which s false
By making the interchanges given in (3), we get the equation as 5 3+ 2 4 or 4 = 4, which is true.

Hence, the answer is (3)




EXERCISE -

Directions : (Q.1 to Q. 3) : Answer the questions on the basis of the information given below. If ‘$’ represents
w7k’ represents -, ‘#' represents ‘X ‘@’ represents '/" then answer the following questions bases on the

above given representation.
1. Whatis the value of 4 #3$ 10@ 5 $ 8# 2%18?
{110 , (2)12 (3)6.8 @112
2. . Which of the follomng has the value equivalent of 5 $ 6#2%$8 @ 47?
'(1)4#7*12$2#1 ()8#2*3$6@3 ()8@2 3$6#3 @a4$7%1282#1
3. Which of the given vaiues is greater than 7 $ 3%2512@47. ' '
)4#3$6@3 %4 ' ’ (2)5#2*8@433#3*7
(3)6#3*18@2$1#2 . @9@3$6#2%x2#1
4,  Correct the following equation by mterchangmgtwosngns . : .
16— 21'+7x6+3=31

(1)-and + @ +andx - (+and+ Y (@)+and x
Directions {Q.5 & Q 6) In each of the following queshons which one of the four interchanges in sxgns and
' numbers would make tha given equation correct" -

5. 6x4+2=16 B I )
(1) +and % 2and4 . v,(z)fgndkzands ‘B)+andx 4and6  (4) None of these

6. 4x6-2-14
(1)><to 2and4 (2; tox2and6 (3) to+ 2and 6 - (4;xto+ 4and6

B

7. It is given that : > denotes +, < denotes + denotes % - denotes = = denotes ‘Iess than and x denotes greater'
than’, find which of the following is'a.correct staternent.

(1)3+2<4=9+3<1 ()3>2>4 18+3<2

(3)3>2<4x8+4<2 : @3+2<4x9+3<3

8.  If » stands for ‘addxti(in"*k for 'subtractiors, '+ for ‘division’, ">' for mulnp!imtlon " for ‘equal to', '+ for

‘greater than' and '=' for 'less thary, then state which of the following is true?

(1) 3x4>2-9+3<3 , . )5x3<7:8+4x1

‘\3)5>2+"*10<4x8 M3x2<4+16>2+4

9. If'+ stands for 'division, '+ ' stands for mulﬁphcaﬁon’ "X stands for subtracho*x and - stands for 'addition, which
one of the following is correct? : :
W) 18 - 6x7+5-2=22 (2‘18x6+7 5-2=16
@ 18 = 6- T45x2=20  @18+6:7x5-2-18 -
Directions : (Q 10!0Q 14) lnthe follomng questlon different Ietters stand for various symbo!s as indicated below
R: Addmon ~ s ctic T: Mjnphcahon 8 U DJVISIOH T
V v Equa W Greater than’  X:less than B \ : e ( :

Out of the four altematwes given In these queshons only one'is correct accordmg to the ahove jetter symbols

- Identify the correct one o
ff,?:"ﬁzzusxs '(’2)151{254\16;38 (3)16'1"2'{}4%"6128 (4}16U2R486&‘J8
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()20U4R4X2T3
(1)15U5R3V2T3
(1)24U3R2S2W8
()30R6U2W4 T3

(2)2054U4V2T3
(2)15U5W3R2T3
(2)24S3X2T2U8
(2)30S6S2X4T3

(3)20T4U4U2X3
3)1555T3W2R3
(3I24R3S2X2T8
(3)30S6U2U4V3

[4)20R4U4S2W3
{4 15R5U3V2R3
(424U3T2V2TS
(4)30U6R2W4T3

If 'P’ means *+ ; ‘R’ means '’ ; ‘S’ means ‘-’; T" means '+ then what is the value of 5R9P7S9T3P6="?

(1) 54

{2)128

(3)59

If +means +, - means + xmeans - and + means X then ?

(32)(8)-—8)(2= (3@._
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(4) 55

{4) None of these

If L denoted + M denotes x, P denotes + and Q denotes -, then which of following statementsis-*irge 9 -

11)32 PSL 16 Q 4=3/2

(3)11M34L17Q8L3=38/3

If + means + +means —, - means X x means + ,then 12 +6 +3-2x8="7

22

(-2

(26M18Q26L13P7=173/13

@9P91L9QIMI=-T71

(34

. 48

If + means -, — means x,x>means+andx means+then1;5—3+10x 5+5=7?

(15

(-1

(2)22

(22

(348

If x means + ~ means X, + means—+ and +- means -, then(3 -15+19)x ‘8+‘6 =2 _

314 - 48

(4) 52




